	 				                                                UCS/AT/2AM2 

B.Sc. DEGREE EXAMINATION, NOVEMBER 2015.
I YEAR — II SEMESTER
Allied II — ALLIED MATHEMATICS —II
Time : 3 hours	    Max. Marks : 75
SECTION A — (10 × 2 = 20 marks)
Answer any TEN questions.
1. What is the criteria for convergence in Newton Raphson method?
2. State Gauss elimination method.
3. Define shift operator.
4. State Newtons backward difference formula.
5. Find the divided differences of x3 + x + 2  for the arguments 1,3,6,11.
6. State Lagrange’s formula.
7. State Trapezoidal rule.
8. 

Compute the value of  using Simpson  rule.
9. State Euler’s formula.
10. State R-K 4th order formula.
11. Evaluate .
12. Find the missing value 
	x:
	 50
	 51
	52
	 53
	  54

	y:
	2.176
	2.179
	 --
	2.185
	2.188


SECTION B — (5 × 5 = 25 marks)
Answer any FIVE questions.
13. Find the positive root of  2x2 – 3x-6=0 by Newton Raphson method.
14. Using Newton’s backward difference formula find f (5.5).
         
	x:
	 3
	4
	5
	6

	f(x):
	6
	24
	60
	120


15. Prove the operator         is linear.
16. Find  at x=900 from the following table:
	x:
	0
	300
	600
	900
	1200
	1500
	1800

	y:
	135
	149
	157
	183
	201
	205
	193


17. Using Taylor’s series method find y at x=0.1 given  =x2 –y.  y(0)=l
18. 
Show that   
19.  (
[P.T.O.]
)Evaluate   using Trapezoidal rule.

SECTION C — (3 × 10 = 30 marks)
Answer any THREE questions.
20. Solve the system by Gauss elimination method 2x3yz=5, 4x4y3z=3 and 
	2x3y2z=2.
21. The population of a town is given:
	Yr:
	1941
	1951
	1961
	1971
	1981
	1991

	Pop:
	20
	24
	29
	36
	46
	51


	Estimate the population for the year 1976.
22. Find f(10) from the following:
	x:
	5
	6
	9
	11

	f(x):
	12
	13
	14
	16


23. 
Evaluate by using 
	(a)	Trapezoidal rule
	(b)	simpson’s rule and also verify by actual integration.
24. 
Apply the fourth order Runge-Kutta method to find y(0.2) given that .

                                       —————
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